BT w3 erel AN € efenragin sET

337 01 -05- 2019

yas 1 :- 35 for yms oo »iat & fe'a &=t fe'st aret 3 1niat fe's Ada 31

fer A § fims 'y o & &3t § Yo+ 9w &8t Wt @9 & S
&9

45, 54, 47,............... 49, 56, 51

(1) 48 (2) 52 3) 55 (4) 62

e gateatie faE Afas 37

1) sftmrzr (2) uferrs (3) g (4) =5fésT

HH @ 4 3 5 @ Suv ul2 Thit 5° geort ¥ w0 @ Guw fam
AR JSainit?

(1) 4:212 PM(2) 4:21 P.M (3) 4:212 P.M (4) 4:215; PM
When a burning splinter is brought near the gas jar containing
hydrogen gas, a popping sound is observed. It is due to:
(1) exothermic reaction (2) endothermic reaction
(3) exothermic & endothermic (4) None of these
'A' 3 f€F S yIT I95 BE 'B' I° 6 fos T We At Barer I 1RT9
A 3 B fiss & ferm a5 4 fos ffe yor a9 87 95 St uzT a9
fx B fedtor fem on § 3 foat R yar adar

(1) 2 fes (2) 12 fes 3) 6fes (4) 10 fes

ac: €39 nEd fos wt mie f9 37 w=d), 3T I7 foret ares 9!

“fATant €9 99 97 I3 &< fiuys <t afam
9ot IrateEt T



YRS 06:- foMs fous aus ATt O 7 a3 2
Vs fe'a ufena Rftpr 3
yHs 07:- HA A3 3 fixar mrer 9

(1) 2 ¥92 A&T  (2) 24 AI< AsT (3) 5 T2 Ao (4) 10 A9 Aar
yFo08:- e sfenr et e wae fan @ @ v 37

%mwﬁ?wéhnﬁﬁwalwﬁa@m§
frs e U & &t § Yo avs B Adt €37 &t 9= 79:
3,6, 15, 48, .......
(1) 192 (2) 193 (3) 194 (4) 195
viardwt »iust € &t § yor a9s wet At feawy 9F
sHyJ, L

| (OMI  @QIM @) LN @) IM

Ans 1. 55

Ans2. T3hg

912 pn
Ans 3. 4.2111 P.M

Ans 4. exothermic reaction

Ans5. 12 fgs

“fifedlt f¥e g9 37 o5 oot fituz & afiTe a9at ot 37



Answers of Sheet No.02

Ans7. 24 &5z fwr
Ans8. g3 wireem
Ans9. 195

Ans10. m

“ﬁ’aaﬂﬁ‘swéﬁisw%ﬁ&mnaﬁaﬁﬁﬁ”l



BT Ut faw @y Arfom @ g 39
1.9 »Is o 2.99 35 2T #t

3.97g diffe fitwr st 4. g riae ¥ +#

yEs17. 35 fEd yms oo viat & fe'x ot fe'st ot 9 vk feod B

fimrs fe's 3 & &t & yor a9 =t At B39 @ = a3

Choose the correct option.
the money.( stole/stolen)

Answers of Sheet No.03
Ans 11. yfgsa Aftmpr
Ans 12. 12 3__1?’

Ans 13. WEHifannT

Ans 14. Hdt
Ans 15. 31 9791

“ﬁeﬁﬁvw#ézzﬁ*ﬁwﬁmmwﬁ%”l



'qms'zs'. 17#3&@%?3%3@%%&%@#&%@%%?

(1 3 2) 4 36 @ 7

Find odd one out .
1. Coal 2. Petroleum 3. Natural Gas 4. Bio-Gas

~ Answers of Sheet No.04
Ans 16. Jg a8 2= FHt
Ans 17. 24
Ans 18. @t iy sedg

Ans 19, stolen

Ans 20. SRfefsx yfgesss

“ﬁaﬂﬁgwﬁéw%ﬁ&mmmﬁ”l




3 I TR AHTF € fefenragin BET
Hic & :06 1437 07 - 05- 2019
YRS 26:- U g8 AN A9 ¥936 ¥de A& § wier J,fen 3 &t I
37
(1) 875 ydt 3gF 5% st Ufsmrr
(2) T5= fasr I

3) & Yyt 37* 55 7S foor T

(4) T5E Yyt 3gF 5% &t 7S foor

YrS 27:- AB 3 40 Hieg TYT -ueH T I, »i3 C,B I 40 Hies Tu=-
Y99 T 3, fev C,A 3 faw fomr =5 37

(1) ys= (2) uaH (3) €39-yvw (4) Tz
YHS 28:- 'TH &6 AN'S &8 foa® nifen o &9 5 &dis maet f%g

faasT a9a 37

(1) Ay=s (2) 9N 3) nifagss  (4) niues

YRS 29:- foHsfous ags Adt O 7 53 2

AfeniiersT awar € Yot A €t 7 BTl 'JeT e T aes
13T famrr A
YHS 30:- We should obey our parents.( Change into Interrogative Sentence)

a2: 839 ne fes &t wie &9 37 A=dr, 3¢ I foHT IHIS 9!
Answers of Sheet No.05

Ans21. qﬂ?! A3
Ans 22. 7 Wet

Ans 23. 7
Ans 24, Bio-Gas
Ans 25, - reiro M

\J

“ﬁeaﬂﬁawéﬁgszﬁ*ﬁusﬁ&mmwﬁ%”l



(1) 2200 (2) 2300 (3) 2400 (4) 2500
YHE 33:- mﬁg%mm@ﬁ?&wmﬁ?ﬁamwﬁ?
fga3 a9a 37

(1) Peter Tabichi (Kenya) - (2) Swaroop Rawal (India)
(3) Daisy Mertens (Netherlands) (4) Arti Qanungo (India)

YH& 35 :- He plays hockey. ( Change into Negative Sentence)

Answers of Sheet No.06
Ans 26 w8z ydt 37 5% a1 7 fggr

- Ans 27, ygm

Ans 28. »yeg
Ans 29. mqt

Ans 30. Should we obey our parents. ?

m?aﬁﬁawéﬁqswmﬁ&mﬂmmﬁl



YHE37:-

Ans 31.
Ans 32,
Ans 33,
Ans 34,
Ans 35.

(®) I3t et () st i

5 5989 1999 & ot fuos 7 ? yzr 53

® MY on) gEEw () gEeew on) S
faast Quist groemys 3 nif{3AT o9 &t it 59
®) =rdt )R (2) weedt () unrgt
When was Swami Vivekananda born?

® January 12,1860 (»1) January 12,1861
(¥) January12,1862 () January 12,1863

Let her go. (Change into Negative Sentence)

»ﬁr@sﬁzeﬁxﬁzfégéﬁm,ses’afmmﬁmaa!
Answers of Sheet No.07
ITTH
2400
IS

Peter Tabichi (Kenya)
He does not play hockey.

“ﬁaﬁﬁvwhéz@ﬁwﬁ&mmﬁﬁ%w



L
nt) ﬁc g_o. ﬁl ? % % ? . ?
HiZ & :09 37 10 -05-2019

yrs41:-  H} gferies afog &t rervsT 9T 3° ame A 3 ufod IfEt &= As ¢
®) sEtew fRwdat () g g
(®) 3z Hat fRw (A) 3Et geeH A

YRs42:- 93 fee 38 Aeet e gudty avisg
®) yus vzt () T Wzt
(8) IHeIUsSt () A& yHy

YHS 43:- UISt € A8 3 33% 3797 fxozT 37

®) muz forlt (») gom (%) uge 39" (W) F'&e 39
YAs44:-  HIST § B3 I B I6 - TF &9 I BT Huwt fog fxam

I I? |

(1) AyseE™s (2) e (3) FIIT (4) FIH
YR&45:- Change the following Exclamatory sentence into Assertive sentence:

How cold it is today!

&2: €39 e fes € mMe 99 37 Ar=dr, 3% 3 foHant aHIS a9 !
Answers of Sheet No.08

Ans 36. T HET
Ans 37. GG

Ans 38, Hst
Ans 39. January 12,1863
Ans 40. Do not let her go.

“fieelt €8 99 3w o3 < fitus & af R a9at odtet 7




&<t 3 TR AT @ fowragiyt BE7

Fmie Qo ¥'¥ yR v widt ¥1feg 80 e goet ¥ 3 feg ud
UR HF At 3 1nmar gE fan femr fo'g 7 9t 9
®) €39 () Tys-uEH

m49:-€ahﬂﬁ’7gﬁmﬁémas&qﬁarj@a&§§*§
fargr wfar i
®) 3 miyg (") By (@) TI5 (A A=T

YHS 50:-Who is the first player to be honoured with Bharat Ratna?
(8) Leander Paes (") Sachin Tendulkar
(¥) Vijay Amritraj (A7) Dhyan Chand

32 €39 vad fes &t e ¥ 37 Ted, 3¢ I fondh ares a9)
Answers of Sheet No.09

Ans 41. =9 gur At

Ans 42, gHegust

Ans 43. moA

Ans 44. gg37
Ans 45, T1tis very cold today.

- “fifedht f¥o o9 37 o3 o=t fituz €t dfaw swat ot 37



Hiz & :11 37 14 -05-2019
YR&51:- Find the missing number in place of question mark.

13 12 5
17 15 8
25 24 ?
29 21 20

®6 (D7 (@) 8 (A) 9
msz:-fe”afameﬁaswﬂajﬂé‘zzov%awf‘smw%s*fanwaamvﬁét

Wz Fuet 31fen § w9 =Et fan e &t fe@w s Qutiar ITBt T

7

® 1A (n)2A (¥) 4A (A) 5A |

37

(8) Ffeus & AI=@EsT () TS 3 I fe'e mESt S I

(¥) 7339 foniufear (W) TTHeIUS It It ¥ Ut &t fogast
YRS : 54: s i @ AU FreT Ue 91 e o feu 35 w19 muet fee

faoz a9x 37
®) Auges () a93" (¥) FIH  (A) niu=Ts

YRS 55:- The doctor said to the patient " Eat fresh oranges and don't sit in
the sun." ~ (Change the narration)

3<: €39 n9d fes &t e <9 37 A=, 3¢ 3 fendit a3 &9!
Answers of Sheet No.10

Ans46. €39
Ans 47. 11 HEt
Ans 48. Columbus discovered America.

Ans 49, &Sdrdg
Ans 50. Sachin Tendulkar

“friealt RS 99 37 o5 o=t fius &t 3w g9at otet 37




$z

SER v

33 ?Flé\' méz%f%waa?wae?
Hz & :12 37 15 -05-2019
UHS 56:- Find the odd one out.
(@) 15.63 () 22.91 (¥) 23.95 (R) 31.97

yas 57: fa@es € st @ SRS fou nigams fafonr w3 yHfafanr s a5 '-
®) f£°8 =rz '3 uv G fomr f%9
() "B I-miBd TAST '3 yT £ fenr &9
(B) B I-mEa TAST '3 3 G fomr f&'T
7 fe'q =ag '3 w3 &' It femr &9

yrs 58:- AT IEt fenrast Are 2 faR S Aes e e & R, fere gege €7 3
H3d Hss fe'e Avs a9 femr AR 3T 8F 3 fag AR fe'e Are & Rasfing
S wgd 7
(®) 1 Hdd (»h) 3 HT1B (®) 6 HIt3 175

YRS 59:- 'SAT fa€ &7 39 3'7 fon T fe'g nixonx fafanr I A Axenx fafanr 2

YHS 60:- The teacher said ,'""Love is God." ( Change the narration)

ac: €39 O fos &t e 99 37 A=d, 3¢ 3 feHdl JAIS a9 !
Answers of Sheet No.11

Ans 51. 7

Ans 52, 5A

Ans53.  STHIIUS! IOt I ¥ IHUS' € fagast
Ans 54. CCEM

Ans 55. The doctor advised the patient to eat fresh oranges and not to sit
in the sun.

“fieait f9 99 9w 5 a=f filuz & afaw 9at o=t 571




\
( %
U |
Bs= —
3 3 oI AT € Rforuraahy’ st
Hie & :13 337 16 - 05-2019

yFs 61:- 'Sy FBESS 3 §gS HIEM st 'feR fefent niemva 3
AXIHR ?

YRs62:- A I yfost Srtvs g3t a2° 3 fad It ?
®) 1954 (Hat®) (nf) 1952 26
(¥) 1962 (AAI3T) (A) 1951 (&= f&sh)

YRs63:- HAIS , »ig ,v79<t »i3 ot 3 a&H &' T ¥ 3 infonmus 85t
& Unadt g a8 TY-TY €91 5% 39519 € ARET 9 ?
® 4 (n) 12 (®) 256 (A) 24

yHs64:- He is telling a story. (Change into Passive Voice)

yra65:- fe'a nigs fe'a aget Tous Arond bt 918r° fae = yJifde <%,
A9 € WU g1 T ySifdy 999 miare 7T fa &3F v yJiffy g
aH9 »EEr 1 AEEt TIuT §uT ¥ It ¥ o TR nigAe TH-IY
TIUST | gAS I gfenr I fegt 9 fxozT g & 3 2

®) 35,835, <35 (n) €38, A3, NT3H

Answers of Sheet No.12

Ans 56. 31.97

Ans 57. NMBA-MS a1 TAST '3 3 Bxe femr e
Ans 58. 6 HItS

Ans 59, MIIHK

Ans 60. The teacher said that love is God.

“fox ofsg Hze3T 931 ”



&R I RS AT @ fefenraat B8
Hie & :14 fir3? 17 -05-2019

ymo 66:- 'TEHIS T Tee Afonr adt w1 fen T fe'w 35 Bt muEt fe
fagz a9x 317
®) zon () AUSTS (®) FI3° (A) miyes
YH&67:~ A 3 TU Ha® 7 fe'g 751
® drg (o) wEEEs YRR (@) fimen  (A) forem yEm
YRS68:- MHA (Aus),HE (Aman) 3 &3 (Boro) 35 forinit gAwt f&'8° farm =rs
Phort famt 95 7 X A fee S5 oot divter Aidingt 957

(®) Wt () B&7 (¥) gHI" (A) q=

yma69:- Kindly help me. (Change into passive voice)

yH&70:- TR Safamit & fe'x oEls fe'e TgT g AeT ¥A WA 3 S AES
famerfen 72, 3t €0 ¥R R ¥ A3 AES 'S o Aedr| SEs o
g0 ufost B R ¥ foed wEs 3 9
® 2 () | (® g (W) ufed

Answers of Sheet No.13

Ans 61. AIHK

Ans 62. 1951 (&< fe'8h)

Ans 63. 24

Ans 64. A story is being told by him.
Ans 65. H3%,8 36,18

“fe'x 3fsa HSE3T e 1 ”



YHASG 71:~ What is the minimum age to become a member of Lok Sabha ?
(®) 18 () 19 (®) 21 (R) 25
yas72:- fagdt &t g et dars v mery faor wier 37
- ®)FIHET () TR @ 3vdt () fig
yrs73:- 393 T ufgs fiv'e uste fad marfus Sfenr ¢
® vt nwgefe (2) @ () wfnmwe
YH&74:- Fill in the blank with suitable Adverb.

He is better now.(much / very)
%75:-mﬁ43»nu%g%aa'i‘sap:re%%l »H 3 T9 A% ImE 799
é#e‘lnﬁ@m*?ﬁs%mﬁ%s*mﬁ-rséﬂ'g?@ﬁwa%n
® 30 A7 () 32 A (@) 34 A (F) 38 A®

32: §39 I fes ot Hie (99 9 71ad, 3¢ S [od s o5 |
Answers of Sheet No.14

Ans 66. CCEM

Ans 67. fimon

Ans68.  Sa&T

Ans 69. You are requested to help me.
Ans 70.

s

“fe'g afsa Hse3T 58



Ans 71,
Ans 72,
Ans 73,
Ans 74,
Ans 75,

7-,{FI376 - Who wasthe

YAST77:- %m-r%sﬂﬁnrraf%wéem %wﬁwrw%?

YHG78: -

YHS79:-

first speaker of Lok Sabha ?

®) z9dt () frmm (®) "Afagz () »im

(®) »ifizAs () nifoHerge

Let them play this Mmatch.( Change into passive voice)

®) s () Foe (®) Hfe3 (A) wirm

fe—o(%t‘s'amrsvaél



3t 3 oRY T € fewraghyt et

‘r YHS 81:- Arrangethe words as they occur in the dlctlonary

1. Pestle 2. Pestilence 3.Pester 4 .Pest 5.Pessimist

(@) 4,3’1’5’2 (m) 3’4,2’5,1 (g) 5’4,3,2’1 (H) 4’5’1’2’3

|y 82 :-I Rt et B 3t e forat O et sy Asd
®) duz () fas@ (z) ges & (A) s gast

1{3383 :- 393 € AY 3 5T Higes fxomr 37

®) s9ds () Bo-vEY  (¥) 89 (THAES) (A) I GCAES

| YA 84 :- He wrote a letter. ( Change into Interroative sentence)

z{a?;ss— T AIAIT T Afeusa ydt g Jer 37
® vy ¥zdt () mitag (B) IAUS  (A) TE A9 & HY A5

&< 937 ma® fus &t Hiz f9 33 waar, 3¢ I fouvt aH93 33!

Answers of Sheet No.16
Ans 76. G.V.Mavalankar

Ans77.  mfags

Ans 78. 9B '

Ans 79. Let this match be played by them.
Ans 80. HH

“ﬁ’aﬂﬁ‘awé‘agfszﬁ*fﬁuzﬁ&maaﬁmﬁ”l



He & :18 13T 22-05-2019
Y5 86:- 36 e ,———

2345678512345678512312345678515
- ®) 69 1) 72 ®) 77 - () 81

| yis 87 -3 fadint foS* fam § yfsast & Aot qawerdt faxar wier 37
® FgTw (NI @ frg - ") 8%

yHs 88 :- What is the full form of PGDCA ?

YHs 89 :- | have written a letter. ( Change into Negative sentence)

| yms 90- 'W»m%haw%‘mnmu-zolg'ﬁ%m?mwﬁw%
| Aus faor
® T () TR=t (®) d8r GRS

ac: 839 na® fos &t die 9 37 wear, 3w o formdlt aHes a9!

Answers of Sheet No.17
Ans81.  5,4,3,2,1
Ans 82 gieqd fa @
Ans 83. g9 (IHATS) -
Ans 84. Did he write a letter ?
Ans 85. THUS

“fdedit f€9 T9 I7 oF o< filuz &t dfm agat grdtet 371



“n ﬂo §'= ﬂc @_ % % a . e ?
e & :19 1337 23-05- 2019

yres 91:- Who was the first Indian scientist to receive Nobel Prize 2’ .

yHs 92 -%® et v dar % Jer @ faffa fewm o'y ——————-- urfemr wter 3

(®) aretene () Tem (®) 39T (A7) &I

yas 93 ;- What is the full form of BA ?

YHS 94 :- He stole my pen . ( Change into passive voice)

yrs 95- €T §'3ues fe'e war v du9 fe'w e faasr 37
@393 () Hd (®) nrAgfEnT () BoHIR

&z B39 na® fos & Hie Ry 37 7=, 3¢ 3 fonwral ar9s a9!

Answers of Sheet No.18
Ans 86. 72
Ans 87 fora
Ans 88. Post graduation diploma in computer application
Ans 89. I have not written a letter.

Ans 90. gy’

“fifedlt &9 g9 99 o3 o<t fiiuz & IfFE 9ot Irdiet 371



e o

? 20 37 24-05-2019

ym®s 96:- Who was the first Bharat Ratan Award recipient ?

yms 97 - TE i fam yis 9 Ag 3 Fu umet wE 37

®) faoe ) T (¥) HTT'HSI A) €39 yer

yraa 98 :- What is the full form of B.Com ?

Ans 91.

Ans 92

Ans 93.
Ans 94,
Ans 95,

Answers of Sheet No.19
Sir C.V.Raman ( Sir Chandrashekhara Venkata Raman)

-

&JT
Bachelor of Arts

My pen was stolen by him.
Er N E

“ftuaft f¥g I3 9w oF oot vz & afFE S9at et 97



/

@ \P\ﬁ-
IR I oRSt AHTT @ Rfenraain &’6‘
Hiz & 221 3T 25-05-2019

e

ho is the author of the book 'Harry Potter' ?

YRS 101:-

YRS 102 - 'fere fgae I U 2019' 2 gradt AN T FUSS AT TS?
(8) feare aust () H AR TST

(®) IféeT AT m) fedm asfs=x

yms 103 :-  What is the full form of B.Arch.?

yrs 104 ;- We had completed the work.(Change into Passive Voice)

YRS 105:- m%mmﬁsﬁ%ﬁsﬁﬁwﬁ’aéﬁmﬁ@mﬁaﬁm?

(8) niew faordt TwUEt (nf) I ardt

(8) HaTaH! TATED (A) sT.HeHTs fAw

32 939 niad fes e Hie

Answers of Sheet No.20
Ans 96. Dr. Radhakrishnan

= 39 a=dl, 3¢ 3 feHmdit IASS JJ!

Ans 97 HITTHSI
Ans 98. Bachelor of Commerce
Ans 99. | am not afraid of him.

Ans 100. MTHSH M7

“ﬁ?ﬂﬁﬁ?ﬁ%?ﬁfﬁwé&mmm%”l



He & :22 137 27052019

"Who is the author of the book 'James Bond' ?

®) 393 () 6885 (=) mmfEnr (A) Hisar
| yFs 108 :- 1 WER, 2019 § Fus @ &2 MHO'E aF 52 T57

............... (to / of) theft. (Use appropriate
preposition)

| Y75 110:- Punjab does not share its border with

(® Himachal Pradesh (») Haryana () Rajasthan  (®) Delhi

&2: €39 vad fus <t iz 9 3 wed, 3¢ 3 fonat THSS 3

Answers of Sheet No.21
Ans101.  J.K.Rowling

Ans 102 fege ot
Ans 103. Bachelor of Architecture

Ans104.  The work had been completed by us..
Ans105. it It

“fiedt 9 99 97 I% st fius <t dftg a9 odtet 37
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%%ﬂ‘%‘eneﬁ‘mé/%%»ﬂaa?»ﬁaﬁ

Hie & :23
YES 111:- H 'Burat Afos et o 99T '

@ fagdmmreadt o) 5 gg e i
(®)  Tg wiaws @ ) Tg wormeR
YAs112 :- gas is not known as the greenhouse gas ?
(®) Methane (™) Nitrous oxide
(¥) Hydrogen (A) Carbon dioxide
yRs113 ;- "Huft 2 18 et yfitg 3

® gusae () M (@) e (7))  #t yasAs Aoy

Yr5114 ;- | do not make a noise in the class. (Translate into Punjabi)

-y

A&t &9t g1 (Translate into English)

YHAS115:- I IHIET I

Answers of Sheet No.22

Ans 106. Ian Fleming

Ans 107 RS fEnr
Ans 108. &7gfas (Naruhito)
Ans 109. He was accused of theft.

Ans 110. Delhi

“fifedlt RS g3 I o5 aet fikve &t &fiTr x9at ot 97



(® Ht Ig 391 gorge (1) Ht Iy ofsdifde H
(®) "t 79 s °= (R) Mt g »IeR

Yrs117 - What is force ?
(®) pull (») push

(¥) pull and push both (A) None of these
Y5118 - Look at this series: 22, 21, 23, 22,24,23, -What number

should come next?
® 22 (@) 24 ® 25 @® 26
Yr5119 :- Is he not deceiving me 2. (Translate into Punjabi) ‘
YR5120:- niW g9 ¥ 31 (Translate into English)

Answers of Sheet No.23

Ans111.  #t gg niows

Ans 112 Hydrogen

Ans 113.  Ht yasAe Afow

Ans 113. ¥ a3 fe's Jor st wler o)
Ans 115.  All that glitters is not gold.

“ﬁwﬁ%ww@w%ﬁ&mmwﬁ%”l



s} ﬂo g; ﬂo é' % % a o ?
He & : 25 37 02-07- 2019

YHE 121:- A 2011 ¥ ARIEST ' WA IS 9 AeRfor wasT et 97
(8) 382 fenast y3t wgar fadhites () 482 fenrast Y=t waar fadhites
(®) 582 fenrarst y=t v faftes () 682 feniaat yst waar fordtes
What is the population density of India as per the census 2011?
(A) 382 persons per sq kilometer
(B) 482 persons per sq kilometer
(C) 582 persons per sq kilometer
(D) 682 persons per sq kilometer
YRS 122:- 'SHlGar #iw gt 839 | faoF o feT Afas 7
(® 7y n3 Tt () »A™M
(® dfenre (A I
In which state the 'Kaziranga Sanctuary' is situated?
(A) Jammu & Kashmir (B) Assam (C) Haryana (D) Kerala
yas 123:-  fxodt 5€t 3 vt dars T meww faor wer 97
- (8) B9wE aEt () 3nft B%t
(®) THee &€t () fia st
Which river is called the ""Sorrow" of West Bengal ?
(A) Narmada river (B) Tapi river (C) Damodar river (D) Indus river

YRS 124:-  Our school will celebrate/celebrated its annual

day next Friday. Choose the suitable verb in the given sentence.
YHs 125:- What was the day on 15th August 1947 ?

II (A) Friday (B) Sunday (C) Saturday (D) Thursday ‘I

&c: €39 nad fos &t mie f¥9 39 wed, 3¢ I fonraht aHIS 3!

“fieeit ff9 99 97 o9 st fitus ot afam a9t o=t B



Hﬁ'eras'sﬁwm"'l'w Ifer =5 fe'g I5 ooft3 muet o9 fxo
o I?

®) T () I3 (¥) AUsT™S (R) niueTs
YRs127:- #7932 fam dwEw & 2019 ? feme 2y fe'e nearfrsts @ fioe
He fe'v 3fea g=et 2

 (8) i me () yine mit
| (B) sfex uifenrr (A) Foety ores
~ Who is the Indian bowler making a hat trick against Afghanistan in the World
Cup 2019?
(A) Jaspreet Bumrah (B) Mohammed Shami
(C) Hardik Pémdya (D) Virat Kohli
YH&G128:- (Mail merge / Data source ) is a feature supported by word

processor that is used to send the same letter to a large number of people.

. Choose the correct word.

YHa129:- [ ) | T — (dyed /died) her hair dark brown. Choose the correct word.
YR&130:-  What was the day on 26th January, 1950 ?
(A) Friday (B) Thursday (C) Saturday (D) Monday

5<: €39 nIB (oo o1 IS (00 51 M9, 53¢ 35 (ord oros o5

Answers of Sheet No.25
Ans 121. 382 fenrarst yst =oar fa@tes (382 persons per sq. kilometer)
Ans 122, YH™ (Assam)
Ans 123. THET &€ (Damodar river)
Ans 124 celebrate
Ans 125, Friday

“fiiealt ffe 99 37 o5 st fiuz &t afiw w9t Triet 37
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() fgm= (T) He" (R) mfge
YRS132;- Wﬁm%mw@ﬁ%éﬁma—zo%ﬁ

}

é‘%nmfeamm‘t%#m?

Sachin Tendulkar has not played a single International T- 20 match for

India. Is this statement right or wrong ?

UAS133:-  'C' 3w g fard feaflg s 7
(éperm () 3fsm fodt (&) R et (1) wroms 39t
Who developed the 'C' Language ?

(A) Thomsan  (B) Dennis Ritchie (C) Lee Arbe {D) Jonnsen Hary

You can win the game.(Change Positive sentence into Negative sentence.
‘  far yis fe'e g8 2019 fe'e formalt aume ((Iwall) & et §amr

::33 3 aret 2

® afanrsr () fiskan  (T) faos (7) a9

In which Indian state many children had died due to Encephalitis in June
20191

(A) Haryana (B) Mizoram {C) Bihar (D) Kerala
|

-m:@aa»mﬁe’?ﬁzﬁ‘a%ﬁm,wé‘aﬁwaﬁmaa!

\ Answers of Sheet No.26
Ans126. 3w |
Ans 127.  wdwe |mit
Ans 128, Mait nierge
Ans 129  dyed
Ans 130.  Thursday

“fiwant f¥9 g9 37 o st fitus &t afaw =94t graiet 97
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fafint f89° faog Irrfefsa ufgesss 37
(8) B3I 3 Ao Bae () TIUST g AT
(®) BT e (7)) AHEEt T fuuses

!Which of the following is a chemical change?

(a) rusting of iron (b) cutting of a tree (c) breaking of a bottle (d) melting of a candle

yRs137:- 393 £ 3x AZT w2 I feurs Aget @it 9t faodt Arer gt 37

C(® TEHEIUF () yus HSdt () 93 T 82 AfHAS (F) =TI
In India, Election for Parliament and State Legislatures is conducted by:
(A) President (B) Prime Minister (C) Election Commission of India (D) Governor

yRs 138:- fogae fus<t geaw fiw 3 fda Ao a3 957

(®) 300 HO () 400 AT (¥) 500 RE (W) 200 A9
How many matches have been played by the cricketer Mr.Yuvraj Singh?.
(a) 300 matches (b) 400 matches (¢) 500 matches (d) 200 matches

YRs 139:- 'The Discovery of India' 5t €t fasg & 3ux 3= 37
() Hvst fees ardt (wh) Ufss Aeow & afag
(®) #t A3t & afag (F) H/t &% g0 AAS

Who wrote the book 'The Discovery of India’.

(a) Mrs Indira Gandhi (b) Pt. Jawahar Lal Nehru
(c) Sh. Moti Lal Nehru (d)Sh. Lal Bahadur Shastri
Correct the following sentence:

Sun rises in east.

Answers of Sheet No.27

Ans 131.  npfit
Ans 132. 3JB3  (wrong)
Ans 133.  3fsw fa&t (Dennis Ritchie)

Ans 134.  You can not win the game.
Ans 135.  f§T'9 (Bihar)

“ﬁﬁﬁvwﬁéw%é&mmaﬁﬁﬁ”l
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yHG141:- forrfenr yges <t virs Guvet filfat 39
What is the average height of Himalayas?
(8) 17050 Fe/ Ft. (») 19030 T2/ Ft.
'(¥) 16030 g2/ Ft. (A) 29030 F=/ Ft.
YAs142:- T8 U fgae 2019 fa® § foor 39
Where is the World Cup Cricket 2019 being held?
(®) »AXT (Amrica) (o) I3 (India)
(®) f€ad's (England) () w&tsr (China)
YRs143:-  foga wer et s9yT 37
* Which food is rich in calcium?
t (®) iz (meat) (») FTu (milk) (¥) TS (rice) (A) IHIT (millet)
yRG144:- 5 T Aidw gt &9
Complete the following series:
2,5,11,23, -
® 48 M) 47 (®) 49 () 44
YH&145:-  Complete the sentence: -

As you sow, so shall you.............ceeeunen.n.

- &2 %mﬁzémﬁv%ﬁm,wé‘aﬁﬂmﬁmaﬁ!
| Answers of Sheet No.28

Ans 136. (8) &9 ?j Har BIET (a) rusting of iron

Ans 137. ) I3 T IT IHES (C) Election Commission of India

Ans 138, ) 400 #Y  (b) 400 matches

Ans 139.  (nf) Ufs3 799 & af9g (b) Pt. Jawahar Lal Nehru

Ans 140. he sun rises in the east.

“fifwalt f¥s o9 3 o5 et fifuz o afiw s9at ordiet 37
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YR146:- feerfirs 'H' &t ot ares faog Jar ger 39
Which disease is caused due to the deficiency of vitamin 'C'?
® gt-at (Beri-Beri) (»f) niggrsT (Night blindness)

(¥) AT (Scurvy) (A) fexer (Rickets)

YAS147:- 393 T 'THSI are’ fam 3 fafimr?

Who has written 'National Anthem' of India?

(®) 3If¥es 378 2d9 (Rabindra Nath Tagore)
() 8fsH dev Seoit (Bankim Chander Chaterjee)
(®) feSnr a8 (William Blake)
(A) HISH™ gt (Mahatma Gandhi)
yH5148:- | fermdt T f38um9 faod v &g watfemr mier 39
When do we celebrate the festival of Baisakhi?
(®) »Us (April) () HE (May) (%) g5 (June) (A) TR (July)
YH&S149:- i Complete the following proverb:
Where there is a will,

yEs150- XML x" =

ae: €39 heB fes &t Hie e 37 wred, 3w 3 foural ares a5
Answers of Sheet No.29

Ans 141. | (7)) 29030 &= (29030 Ft.)
Ans 142, | (@) fEass (England)

Ans 143.  (») F¥g (milk)

Ans 144, (»)) 47

Ans 145.  Asyou sow, so shall you reap.

“friwdlt Re 99 Sw o% a=t fituz =t afimm aoat ot 97
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| fS5 nigt & Tt 3° IFT Aftmr 7
Which of the following is the largest three digit number?
(® 999 () 1000 (¥) 989 (A) 101

yrEs152:- 393 {9 gire féshr duat &t reus &= 317
| When was the East India company established in India?

(®) 1948 €. (n) 1600 Eh.(India)

| (@ 1919 A () 1758 .

YR&153:-  Complete the formula:
(a+b)%- = . |

| yEs1s4:  fam fefumims St sfear @ uget it At 9
Which science is used for the study of stars? ¥

(®) FoRUst fefomrs (Botany) () wdis fefomrs (Astronomy)

® f;_lﬁT-ﬁ (Zoology) (A) ™9" H'A3T(Economics) ‘

ymE155:- {Ame yfifa &g faggr 37
(® fargr »i3 Sarz (nf) argsT (®) AeRT (W) f‘i

52: 39 »ard fos o Hie fife 37 mred, 3¢ 3% ot aHes &3

Answers of Sheet No.30
Ans 146. (¥) AaS<t (Scurvy)
Ans 147. (8) 3fde9 & 239 (Rabindra Nath Tagore)
Ans148. (8) wUs (April) 81
Ans 149.  Where there is a will, there is a way. &
Ans 150, x™Mtn

e S e AR et S5 o

“fiieaht ¥ 79 3% o st ffve & afrs x9d ot 37
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YyHs156:+

yrRs157:-

|
quﬁlsszr

| u=s159:-

Ans 151.
Ans 152,
Ans 153,
_ Ans 154,
Ans 155.

YR%160:~ 393 'S AY 3 ufos 398 YIRS far g fHfenr #i?

m:%mﬁﬁﬁﬁzﬁe%ﬁm,wé’afeﬂﬁmm!

Pick out the Principal Clause in the given sentence:
She hopes that she will pass this year.

The value of x° is __

a1 2 o @3 «x 4) 10

< &9 yam ©t ast 1

Speed of light in air is .

1) 28x10°m/s (2) 3x10°m/s (3) 3.5x10°m/s (4) 5% 10°m/s
grast Afears v fusT fam g ifenr wfer 37
Who is known as the father of Indian Constitution?

(8) 3. Ified yA® (Dr.Rajendra Parsad)

(») 37. HoHTs fRW (Dr.Manmohan Singh)

(®) 3. S.ra.ni@ead (Dr.B.R.Ambedkar)
(A) HISHT aiidt (Mahatma Gandhi)

Who was the first Nobel Prize winner in India?

®) Fh.st.9Hs (C.V.Raman)

(») 9fdeT 5" 2399 (Rabindranath Tagore)
() »iHfaf3n RS (Amartya Sen) .
() TAANEES TBH (A.P.J.Abdul Kalam)

Answers of Sheet No.31

® 999

(») 1600 €t.(India)
a’+2ab+b’

() ¥di® fefamis (Astronomy)

(®) forar »3 Sa=r

“ﬁ’mﬁfé‘ga'a%ag%ae*fﬁ%é&ﬁnaaﬁwﬁﬁ”l
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YyAs161:-  Mrs.Reena (teach) in this school since 2002.

(Use suitable form of verb)

yr&162:- Jot f&St AT Yt 3: ( Compelet the following series:)

3,6,18,72,........

®) 144 () 216 (¥) 288 (H) 360
yAs163:- Jo foit ox &5 st Auet ¥ fSar ges & fou:-
g Bt P gET X uHE niH feuret fEe g1

yrAsl64:- HATEHS AHAS T 393 mrfen?

When did Simon Commision arrive in India?
- (®) 1908 . () 1928 . (¥) 1938 F.

UHS165 Translate into English:

Idtet & AofesT wge &9

32 §39 »dS fes o Hie feg 37 A'edl, 3¢ 3« feHdn JAIS &9 !

Answers of Sheet No.32

Ans 156.  She hopes

Ans157. 1

Ans 158.  3x 10% m/s

Ans 159. 3. Ht.na.nigeasg (Dr.B.R.Ambedkar)

Ans 160. 3IfSe9d 5" 299 (Rabindranath Tagore)

“ﬁaﬁﬁawéﬁism*ﬁuzé&maaﬁ?ﬁé%”l
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Fill in the blank with a passive form:-

YHS 166:- The patient is getting worse ; let the doctor . (call)

Y5 167:- A 2019 3975 83 fegmar @8 il fusdnrt 3 aare nreres @ &
AoH&3 ot fanar?

How many players were rewarded with cash prize during the year
2019 by sports department?

(@) 95 (b) 100 (c) 101 - (d) 105
YA 168:- groufdt st Short flahort ssar gebort gs
®s ( 6 ® 10 @ 7
YAS 169:- »ify3A9 &t 3t gl &g 3=t #t
The battle of Amritsar was faught in
(a) 1504 (b) 1634 () 1528 (d)1643
YH5170:~  Write the full form of UPSC,

52: €39 wad oo A Hie R 37 el ve S Ferralt coras o3

Answers of Sheet No.33
Ans161.  has been teaching
Ans 162. 360

Ans 163. WWW&WWW@WWI
Ans164. () 1928 &,

Ans 165. Do help the poor.

“ﬁ’?ﬂﬂﬁ‘?ﬂ?%ﬁ@kﬁ*ﬁﬂiéf%ﬁﬂﬁ?ﬂaﬁﬁ%”l
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ums 171:- A 3 357 Horew fagar 97
Which is the largest continent?

(a) MTASHBMT (Australia) (b) U (Europe)
(c) THMAT (Asia) (d) mESx (Africa)
UHS 172:- Form Adverbs from the given Adjectives:

(a) Careful (b) Urgent

YHs 173:- Write the full form of IPS.
YRS 174:- nrgfss niregst Aree T fds adu g 957

How many groups are there in Modern Periodic Table?

(@ 18 () 7 (¢c) 15 (d) 8
ymEs 175:- fER Wo=s € »Jg <R |

'§9T AT &7 SeE -

IAIS &I !

5z: G339 wiad fos =t Hie 9 37 Area, 3¢ 3 fermatt

Answers of Sheet No.34 i
Ans 166.  be called
Ans167. 101 it
Ans168. 10 o
Ans169. 1634 - - - ;

Ans 170. Union Public Service Commission

“fiaqht fi¥g g9 39 oF st fius &t afim a9t TrdiEt 97|
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Who is the Home Minister of India?
(a) IS ASH! (Arun Jaitley)  (b) SHEH frwr (Rajnath Singh)
(c) Hﬁ-mT HIWS (Sumitra Mahajan) (d) nfH3 7T (Amit Shah)
YRS 177:- AZ 3 &2 HaEld T

_ is the smallest Continent.
(a) BHAT (Asia) (b) MTASHMT ( Australia)

(c) g9y (Europe) (d) €3t niHda™ ( North America)
YRS 178:- Write the full form of DGP.

(a) Director General of police (b)Deputy General of Police

(c)Deputy Government of Police (d) Director Government of Police
YRS 179:- odtas ot 2 e o5 fds fusat g 987

How many players are there in a Volleyball team?

(@ 9 (b) 11 (¢) 12 (d) 10

ymFs 180:- W& &% fenrw ST 2 »re 3 MuE gE
(1) G 2T, yatg mer (2) Tt &8 Het TSt
(3) ¥ T nivs UB (4) e & TTH WS

I —

3 gsanﬁr%%aéxﬂzﬁvéﬁm,aeiamﬁma%!
Answers of Sheet No.35

Ans171. (c) EEDMT (Asia)

Ans 172.  a) Carefully (b) Urgently

Ans 173. Indian Police Service

Ans 174, (a) 18
Ans 175. 59 & SfgETi

“Fq F g JY B, TSEIE U6
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AT X - 12Y=0 3, Stfegy/xer s 93ar
If X-12Y=0, then the value of y/x is
(a)1/6 (b) 12 (c)1/12 (d)6

YHS182 RS y2+4 = 20 I, 37 fag YT HE S¥ar [

If y2+4=20 , then the value of Yis

yH=s181

(@)4only (b) -4 only  (c)4and-4 (d)16
YR5183  HIdht @ »id feg ﬁ%mﬁvﬂzﬁeﬂfﬁrg%am

How many grams of Carbohydrates are there in a hen's egg?

(a) 0.61 gram (b) 0.5 gram (c) 1.3gram (d) 2.5gram

YHS 184 Change the Gender: Camel
(a) Cow (b)Camelite (c)Camel (d)Mare
Y 185 A wr ufgsr aeesy = it |
Who was the first Governor of Punjab?
() 7t YT fifw( Sri Kapoor Singh) (b)st 39¥R fifw (Sri Harbans Singh)
(c) Ht Sg&s Howes fg2et sii Chandulal Madhavlal Trivedi

(d) 7 govAe (sri Dharamveer)
ac: €39 nEs <t "tz 59 39 Adl, 3T

forrat ares a9 1
Answers of Sheet No.36

Ans176. (d) ’)I'ﬁ-l? H'T (Amit Shah) .

Ans177. WY s = 7,‘}m' (A u&l:wl—n"Q

Ans178.  (a) Director General of police

Ans 179, (o 12
Ans180. (2) Tt &F et St

“Tu 3 ¥ Y marG, Tzegs F96”)




51861 -yfifa nEsfte e fifur, (B3
The famous athlete Milkha Singh, (Flying Sikh) is known for his race
of  m. -

(@ 100 (b) 400 (c) 800 (d) 500

YHG187:- ____ HA9 u A F ¥ soar I

is the largest waterfall in the world.
(a) 7S (Angel) (b) #HaizT (Joranda)
() 9398z (Chitrakote) (d) fegSdmrr (Victoria)

WlS&-ﬁWﬁWHWﬁ?ﬁﬁ%ﬁ?ﬂﬁ*%ﬁ%%?
| ® 3 o 4 @® 5 @ s
YA 189:- feme U fgae(2019) _feu Bfsnr fapr)

The Cricket World Cup (2019) was played in
(a) 3™93(India) (b) »IFAR (Africa)
(c) fE€ar&'3( England) (d) SIH( France)
YHS 190:- At Yyt &9 (Complete the Series)
| 14, 42, 70,

(a) 15,43,71 (b) 13, 41, 69
(c) 28,56,84 (d) 14,42, 70
N%

& @%amﬁaéﬁz%a%wm,sesahwﬂmam

Answers of Sheet No.37 |

Ans181.  (c) 1/12 » h

Ans182. (c¢) 4and-4

Ans 183. (a) 0.61 gram

Ans 184, (a) Cow

Ans 185. (o) #t S vuzes f§S<1 (Sri Chandulal Madhavla] Trivedi)

“Jo I Io Py BIrG, TIeIT g6 |




YR&191:-

YRS 193:-

yFs192:- (16)* a9va9 T _ I

YRS 194:-

yrs 195:-

Change the following sentence into negative sentence:

I helped my friend.

(1.6)3/4 is equal to-

(@ (16)** ) 4 () 8 (d) 16

ﬂ?ﬁewewa%faméaa?aﬁ%anﬁaﬁaﬂﬂmﬁaﬁ?m
nuTE TIST ARt 97

(®) € fxost ot e g3t &7yt

() Y IH HI THI

(®) Wz 3 A9 A3 g

(7)) Qg &t 7 Uis uEt, AR ¥ nieg vee & IEt|

In which year Bangladesh was formed as a separate Country?

(a) 1971 (b) 1991 (c) 1989 (d) 1972

Translate into English:

9T o9 Uiz T AHF T

oY %mﬁaénﬂzﬁv%wm&ﬁsesamaﬁmaa'

Ans 186.
Ans 187.
Ans 188.
Ans 189.
Ans 190.

Answers of Sheet No.38

(b) 400
(d) fex&dhrr (Victoria)
® s

(¢) fEISS(England)
(c) 28,56, 84

“Jg I Ju IY G, T3eeE U8
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d'e T WAS 39 J
) 5.5 i@R (2) 6.5 ni@H (M) 7.5 »igH
_____istheaverage weight of hockey ball.
(a) 4.5 Ounces (b) 5.5 Ounces (c) 6.5 Ounces (d) 7.5 Ounces
yR&197. I fefimit f45° fixoar Jeeox feRme adt 3 7 |
®) usH () HS=t (%) 9% (A) Hed
urw198. faraters arfefsx miaes g Y37 &<
(Complete the following chemical equation:)
Mg(s)+CuOgs) =2 + .
(8) MgOs)+Cus) (MMg (5+Cu0 () (T) Mg9+Cus)+02 )
(A) None of these
yHs199. Punctuate the following :
may god bless you with all the joys of life
yrs200. 'fuen &5t e’ ____ ¥>few um Ifenmi
The 'Pitts India Act’ passed in .
(a) 1770 (b) 1773 (c) 1784 (d) 1788

ac: %m@ﬁsﬁﬁzﬁv%ﬁn@,wi&%ﬁmaﬁ!
Answers of Sheet No.39

Ans 191. I did not help my friend.
Ans 192. (c) 8

Ans193. (W) M XH HIT I
Ans 194. (a) 1971
Ans 195. It is time to take tea.
“Fg F dg Y s, TSEIE 967
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Y5 fofimr 155 faodt 3R F931 AfeUs eneT Yerfes &t 97

Which one of the following is not a recognised language in Indian
constitution ?

(a) Bodo (83) (b) Punjabi (JaAT=)

(c) English (»fars+1) (d) Urdu (83%)

V5 f&x nrufeie Aftprr 31 (ATt / I53)

/5 is an irrational number. (True / False)

yms203. fSswHtagueedwFdw____ fAse I° I3
Maximum number of zeros of cubic polynomial is

(@) 1 (b) 2 () 3 (d) 4

g ghe far sfe-urar &8 RIS T 7
(®) farr afe () TIOHfs arfe
(®) gt arfe (7) #9 afe

Iz fofimit f&5* faagT nifewesHts 3 7
Which of the following is non-biodegradable?

(a) Egg Shell (»5 B®) (b) Butter (Hu<)
(c) Detergent (fS2an<) (d) Leather (8H37)

a2 €39 »aB fes Tt mie f9 37 7=d,3T 3q ferdl IAT3 3!
Answers of Sheet No.40

Ans 196. (»f) 5.5 @R
Ans 197. () A<

Ans 198. (8) MgO(5+Cus)
Ans 199. May God bless you with all the joys of life.
Ans 200. (c) 1784

“Jg 3 U 9y a6, TIeIE gU6 7|
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(a) Comunicate (b)Cummunicate (c)Communicat (d)Communicate
. 'feudt ET @ 3T R w8 9 ¢
(®) Hfux 37 3° FmE () A g 3° ufost
(®) Afyx g7 © 576 \) Hfyx sTHET 5% JET AET st
~10-(-6) ¥ 3= &t I?
What is -10-(-6) equal to?
(a) (16)? (b)(-16)? - (c)-4 (d)4
ot J2ar & T Het Fete oSt f¥E g RSt A 7
What will happen to the body of an adult human being if spleen is
removed?
(a)&s By afifaret gzamit we ATEaitii(RBCs production will be reduced).
(b ATSH T gEoT W Fr2ar(Antibodies production will be less).
(c)r3e By JfFaret gEamit we A= (WBCs production will be lowered).
(d)ﬁmm&géﬁa@*wmﬁvﬁwaﬁa@w
‘(Filtration of dead RBCs will not be possible).
yRs210, 393 T yIEt g9 T finrg 576 Bartr UTEs s/t g AYfad
qu ¥ fam & 57 Frfenr AT 9 7 |
Mountain ranges in the eastern part of lndi@?}“ f@ming its boundary with
Myanmar are collectively called as: B
(a)foHrew(Himachal) (b)ys=tgs(Purvanchal)
(c)833/e®(Uttaranchal) (d)8ud=a3 feg° a&t 5t (None of these)

e %m@ﬁwﬁsﬁzﬁv%ﬁm,%wmﬂmaﬁ!
‘ Answers of Sheet No.41

Ans 201. (c)English
Ans202. True
Ans203 (c)3
Ans204 Bt xfe

Ans 205 Detergent
“Ig 3 du 9y HIrG, TS g96”1
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The recently launched 'Indian Moon Mission' is named as

(a) Chandrayaan (b) Chandrayaan 2 (¢) Chandrayaan 3 (d) Chandrayaan 4

Choose the correct one:

Take a deep

(a) Breath  (b) Breathe (¢) Brathe (d) Brethe

gt w3 faordt mer a3 HE &S SR 57

®) ' &% () 'T TS (® €5 (A) far &% &t

&as 2 8 mig & nrarivs © UIH'E g2 TS |
The number of atoms of Oxygen present in one molecule of Ozone is
® 3 () 4 @2m 1
féx met &9 a8 Hatad e 957
How many months are there in a century?

®12 (120 (¥)1200 (A) 12000

&c: %mﬁaéﬁzﬁagﬁm,wé’aﬁmﬂmm!
Answers of Sheet No.42

Ans201. (d) Communicate

Ans202. (8 Wfyx 3T I e

Ans203 (c) -4 . .

Ans204 (d) ﬁﬁawwsg&ma@?%mwmaﬁ'a%w
(Filtration of dead RBCs will not be possible).

Ans205 (b) YyI<'eS(Purvanchal)

«g F Jg Fu I, TIEIE 7O
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yAs216. 393 Tt ATEET MEES T GRwEs v afen?

When was 'The Supreme Court of India' inaugurated?
(®) 1950 (nf) 1951 (@) 1952 (A)1953
yRs217. 393t Afeus &9 van 'QTT ni3 I fegars Aadhet &t 5" &
frais 2w @ Afeus 3° four famrr 3

'Distribution of power between union and state governments' policy in
Indian constitution borrowed from ___ country.

(8) niHAST (America) () ) RST (Canada)
(¥) AU (Japan) (A7) gA (Russia)
iz;p;nszls. 15 = I9a1 &t 97

fl What is the square of 15?

® 15 () 30 (8) 252 (A 225

yas219. e et Remssum3s ____ Rems S ue
gt 31 :
The speed of sound is maximum in and minimum in

() 3H, 395 (Solids, Liquids) (») 3H, JHAT (Solids, Gases)
(®) 39, A (Liquids, Gases) (H) AT, 3IIS (Gases, Liquids)
YRs220. yfarsat Uarg &9 dadt fam feault fSo fodt wiet 32
(G Lil (n) eSaEt (¥) Aoyt

(7)) Tomit

32 naS fos o Hie fog o
Answers of Sheet No.43

Ans211. Satish Dhawan Space Centre (Sriharikota)
Ans212. (8) Breath

Ans213. (M) '€ 8
Ans214. (8) 3
Ans215. (T) 1200

31, 3¢ 3

“Jg 3 U 9Y HarG,T3=9E gU8”



Ans216.
Ans217.
Ans218.
Ans219,
Ans220.

YH5224. Who wrote the book 'The Test of my life from Cricket to cancer and back'?
(®) afum = (Kapil Dev) () ey fiwr (Milkha Singh)
(8) @I fHW (Yuvraj Singh) (A) I9sws ffw (Harbhajan Singh)
YH&225. How many numbers are there from 21 to 70 which are divisible by 9?
(a) 2 (b) 4 () 5 d) 6

3<: B39 nes fos &t M &9

137 26-07-2019

ASTIBE,BU Y C, Cusst I D D, A T &t Sarer 32

A is the Brother of B. B is daughter of C, C is wife of D. What is D's relation
to A? :

(®) fusT (Father) () 397 (Brother)

() Te7 (Grand Father) (A) 3% (Sister)

Give the meaning of the following Idiom:

A bed of roses.

'H 99T A 39 fFY ' ﬁ'ﬁ'muﬂeémmém@%
IJ5?

(®) fomgsma (M) ymeswx (¥) féaewa (7) Hiuewx uzsie

3™ AEdl, 3¢ 3A feHant IAIS & !

Answers of Sheet No.44
® 1950
(») BT (Canada)
A 225
() SA, AT (Solids, Gases)
(T) Aot

-

“Tu 3 0 JY &G, T3reEgE gurs |




yAs227.

5228,
|

lyFs229.

Y5230,

m:%mﬁ%éﬁz%%ﬁm,ﬁﬁawmm!

Ans221.

Ans222.
Ans223.

Ans224.
Ans22S.

2t I RSt AT E erenrIging BET

is the main ship building centre in India?
(8) &t (Delhi) o) fermamuEsH (Vishakhapatnam)
(®) Ay9 (Jaipur) (A) ISWF (Chandigarh)
srast Hfears & fxodt oo 'g3-273 ¥ WSH &6 HAfas I7

Which Article is related with Abolition of Untouchbility?

(a) 20 b 19 (¢) 18 (D 17

(8) €sHuTy (v HOH YSY (¥) MW UsH

Change the following sentence into negative sentence:
I have some letters for you.

Complete the following series:

a)__,bag ab)__?bb.

(a) baa (b) aaa (c) bbb (d) aab

Answers of Sheet No.45

(8) fusT (Father)

Comfortable situation

) H )

(®) @=Iw W (Yuvraj Singh)
(¢) 5

“Fq T Fg I BIG,TIEIE I8



YHS233.

YH&234,
YH&235.

| (¢) BRMrET (Ludhiana) (d) HmesT (Shimla) '

37 29-07-2019

fer s 7 39 5o ¥F A T 5509 YW UIT HaTfEnT ATEar
( AT 7 IH3)

F93t AAT ¢ &8 3791 957

How many parts have the Indian Parliament?

Fill in the blank with an Adjective:

The dog is a animal.(faith)
Werite the full form of ISP.

AT eI fem T
Rail Coach Factory (RCF) is located at
(a) dEH (Gangtok) (b) FYIES'(Kapurthala)

ac: €37 »Es fos & e S8 39 7edr, 3¢ 3 fonat IHIS o5 |

Ans226.
Ans227.
Ans228.

Ans229,
Ans230.

Answers of Sheet No0.46

(1) fé’H"HW(Vishakhapatnam)
@ 17

() HoW U9y

I have not some letters for you.
(¢) bbb
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| yrst € €739 ¥3:
YA 236: 399 1 TR IH T oA FH I?
Qu 236. What is the name of state marked on number 1?
(8) Punjab (») Uttar pradesh
(¥) Jammu & Kashmir  (A) Haryana
YH& 237, 399 24 3 TIA IH 3% fIA IH
3 mﬁa}jﬁ gfenm 37
s 12 “? Qu.237. The state of Telangana
(marked on number 24) is

formed from which state? ?
®) €33 yer () nifudr yoA
() Hu yem (\) 8t
YAs 238: AT 3 82 97 (ifas 25
359) T ot aH 7
Qu 238. Which is the smallest state
(Marked on number 25)?
(€) Goa (M) Punjab (¥) Gujrat (F) Kerla
YRS 239 : 8939e% YO AF 3 I I (ifas 6
389) T ot aH I?
Qu 239. Which is the largest state according to
area (Marked on number 6)?
(8) Rajasthan (™) Maharashtra
(¥) Bihar (A) Gujarat
yrs 240; e § fer san feu fo3 a9 3 worfenr fomr 37

Qu 240. What is the number of Punjab in this map?

® 3 () 2 (®) 4 (A) S
He 399 47 © Adt €39
yHs 231, AJt YRS 232. ®
YHS 233. Faithful YRS 234 Internet Service Provider

YRS 235 (b) UIESHT (Kapurthala)
“Ig I Y JY %G, TITIE 598”7




B n3 eret s & fefonrasht st
HiZ 3 49 3137 01-08-2019

fafemrt fo9* foam o = AT 39
part of which of the following states?
@ Whe D IS (®) HouEeT  (H) sards
Q 242. fifg (-5,-9) far J==t RS mfas I ?The point (-5,-9) is located
in which quadrant?
(8) Idt Sgr=t (4" quadrant) () It Jgrat (3rd quadrant)
¢3)) gT—ﬂ ggrgt (2nd quadrant) (A7) ufg®l Jgrst (1st quadrant)
Q 243. Which day is observed as World AIDS Day?
(8) December 20" (™) March 20t
| (¥) December 1% (A) March 1%
Q 244.ﬁmﬁa§mﬁw%wm+mﬂ€uMﬁ?What

new name did UdhamSingh assigned himself while In Custody ?
® AJte-2-nmH(Shaheed-E-Azam)

(M) IH HIHT (Ram Mohammad )

(B) IH HIHe fifw »ige (Ram Mohammad Singh Azad)

| (A) B9 fiw (Sher Singh)

Q245.§3€'I»ﬁ»‘|‘2’mrr§‘a%a€rgem'1 ,,,,,,,,, e 93 &5t wich
A/

‘Saurashtra’ is a

Hie 899 48 ¥ mt €39
YAS 236 (¥) Jammu & Kashmir YRS 237 (M) niiggr yeH
YAs 238 (8) Goa YRS 239 () Rajasthan

YAS 240 (8) 3

“@?ﬁﬁm,mm”
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3H 3 et AU R fefonradinr ==t
Hig &: 50 =t 02-08-2019

Q 246. FI7 = S fidgr 97

Sun?

What i tempee at urace of e

(8)6000°C (1) 5000°C (¥) 4000°C (A) 3000°C
Q 247. Translate the following sentence into English:
fast feae w3 a9s gou
Q 248. g 'HETAR' nigATe fXO3T AT ufasr Hrgr? Which word with come

first as per english 'dictionary'?
(®) Chair (nf) Charm  (€) Champ () Chain

Q 249. wmmammmm%ﬁuﬁﬁwwﬁu

Complete the series with right picture from the pictures given below:-

‘

- - 2

= - &*G*

® () (€=)) (6))
Q 250. AA™S € Ag 3 €t ferras fagst 37 Which is the tallest building in the

world ?

(®) Haret eeg (Fte) Shangai Tower (China )
() TIB3 293 Aeg (f6€ waa) World Trade Centre (New York)
(®) 97 udter (2551) Burj Khalifa (Dubai)

(W) U267 229 (HBHMT) Petronas Tower (Malasiya)

YRS 241 (1) IAIS(Gujrat) YAs 242 () Tt Javeht (3rd quadrant)
YRS 242 () St SEE (3rd quadrant)

YHS 243 (¥) December 1%

YRS 244 (¥) IH HdHe fiiwr »iame (Ram Mohammad Singh Azad)

YRs 245 (of) €t

"wém@%gmmé,uawa@a—éaaﬁ@waﬁ%ismwgeé"



&<t i3 TR A ? fefonraging wEt
e &: 51 st 03-08-2019

Q251. 35 fafmrr 28° faoz firgr faR izt Aede 2 s 59t Sarer?
Which of the following district is is not adjoining to any national border?

®) ussde () TdtEde  (¥) efT®ar  (H) 395395

Q252. HoHt dudt ot fdastort t genit 5 7How many bones are there in human skull?
(®) 206 () 12 ®)5 () 22

Q 253. Which is the full form of AIDS?
(8) Acquired Immune Deflcuency Synd me
(") Acquired Immune Deficienc f
(¥) Acquired Immune Defected 5§ ro
(A) Aid by socnety o

AlYIA -

(839 fI39)( Answer pictures)
® (n - ® )

Q 255.393 ¥ fX03 HigT 3’ fAdtias Wt ¥ a7 a7 TfomT AT ITWhich city is know
as ‘silicon valley’ in India?

RIS X (®) &

Hiz 399 50 ¥ AA €39
YRS 246 (8) 6000°C YHS 247 Itis crime to travel without ticket.
YHS 248 (A) Chain
YRS 249 () 1, YRS 250 (T) g9d udler (gaeh)

“ AE®3T »i3 nigH it &g ae & %3 st g2~



& 3 TRt A @ fefonradht et

YRS 256. ‘foud niess’ v Hy €2n ot Fi?what is the main aim of the ‘chipko
movement’?
(®) Ho § FERE () SFeI FE I

(®) ugH & Sher () sfart T

standard time is ahead of greenwi ch
(8 3 uie 30 fie
(®) 6 W2 30 e T it
Y 259. HAS T A9 Elkty )-I"'§'EI?5 ICGEY %? Whlch is largest géssert in the world?
(8) AT (Sahara) () g9 (Thar) i

(%) feaddmT (Victoria) (A) drdt (Gobi)
YRS 260. AT I § &, TG g o fxar A<l zﬁ?san%eﬁww%m%?azﬂw
s § ¥ fxor 72 3t wg v Jar fxd figr Rar? if green is red ,red is blue. blue is

white,white is yellow and yellow is purple then what will be the color of grass?

(®) AT (white) (f) WIS (yellow ) (¥) T (green) (A) T (purple)

Fﬁz 399 51 2 mt ﬁga’
yms 251 () TSteae
YRS 252 (A) 22
yAs 253 (8) Acquired Immune Deficiency Syndrome

yRs 254 () @:

YRS 255 (8) Had9
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Bt n3 eRSr A3 € efenraging BT
Hle 3 53 37 06-08-2019

Q 261. We get solar energy from
(8) Moon (M) Sea (¥) Sun (H) Air

Q 262. 82 & 3F2T TNIT IG Bt f&5° Jait w7 e TuT &t ot I3
#2T I?Which of the following is used by dentist to see image of teeth of a
patient?

(&) Concave Mirror (") Convex Len (¥) Convex Mirror (F) Plane Mirror

Q 263. Full form of NTSE

(8) National talent state examination
(") National talent search examination
(¥) National testing search examination

(H) National test state english
Q 264. faA 21t 988 © U3IAT I<IH JHT ©f 9 ST T AZ 3 33

UIAKTT HIRA M98 et oISt It 32
@) M 3 (M) AT UBH (¥) Wa.3.atE. (R) 83 &an

Q 265. f&x fanast 60 << 89 Ju 3 93 fgor T139x ¥ rfde g 89 5
g< 93T J, Y3 4 g¢ JIot A9 AT J| g Afde ame 8o Tous @ fiug
3 2J Bd?

(M) 55 Afde  (¥) 59 Afde (H) 56 Afd<

32:- €397 nia® fes & wHie &9 37 A=, 3¢ 3% fenat aAI3 a9 |

Hie 899 52 & Adt €39
YAS 256 (8) Hast § g9 8T YHS 257 () WIS
yHS 258 (A) 5 uie 30 fHe YrS 259 (8) AJTAT (Sahara)

UHS 260 (¥) IJT (green)

™ “ UEt g9g, ey so€

é Ag® fHft fegmar, Uamg
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Hic &: 54 i3t 07-08-2019

Q266. faR W 3 ‘ot 73 @ gIW v W ‘faor wer 37
Which Country is called the ‘country of midnight sun’? :
(8) 3/92(Norway) (") A&S5(Sweden) (T) HSHMT (Malaysia) (F) 7U™s (Japan) |
| Q267. ¥799T3 YRS ‘AT T By & 317
| Who is the writer of most discussed book ‘Lajja’?

(8) Afsar vidt () IASH SATG () HBAIH nde  (F) nIgst I8
| Q 268. Full form of DPI in Education Department ?

| (&) Director Public Internet () Department of Personnel Investigation

: (¥) Director Private Instruction  (H) Director of Public Instructions ‘

| Q269. 35 fafunrt f&S* fage ad'y ‘Ao foomft’ y& yrus q9sm3 1

Which of the following blood groups is a universal recipient?

| ®A (B (A @O

Q270. fe'x ufges f&'e fe'a yon, ret uzat, o9 U'sT w3 Qost dhrt
| yzadtt 51 o3a U's9 @ ufgerg e fifs 82 w3 fea 3t 3 ufees
| f¥g d's yom Aget &t fazst usr 737 ,
If a Man ,his wife and his four sons with their wives are living together in a family. If
| each son has three sons and one daughter. Calculate the total number of male members |
| of the family. |
®&1 ()12 ®4 ()17

Hie 399 53 €39
Ans 261 (¥) Sun Ans 262 (8) Concave Mirror

Ans 263 () National Talent Search Examination
Ans 264 (¥) m5.51.21.#4. Ans 265 (R) 56 Afde

Ag® fAfunr fegmar, yamg




HiZ & 55 31 08-08-2019

Q271. TTEETEIS YT BT HY 96 &f 97
What is the main cause of Typhoid fever ?
(®) virus () Bacteria (¥) Fungus (A7) Allergy
Q272.35E ¥ fdatit niyt gehort 957

How many eyes do an earthworm have? |

®)1 () 2 (®) dEt &t (H) 793 At

Q 273. 493t uv AZ 3 <57 vurgrst Hiw faosT 97 |

Which is the largest mammal on earth? i

(8) Elephant (1) Camel (¥) Blue Whale () Giraffe
Q274. 35 fafemit fsonit &5 faaar AedarmrsT e foum st 39
Which of the following rules is not a congruency rule?

(8) sss (1) SAS (T) AAA (F) ASA

0275. Y&t AES 597

B 4 E 9 L ?
3 C 6 H 13 ?

(®) 18,0 () 16,R (®) 13,T () 20,W

Se:-@%a»m%ﬁwémzﬁvgﬁm,ses%ﬁwaﬂmaﬁl
Hie 889 54 ¥ At €39

Ans 266 (8) arge° Ans 267 (") Bﬁ'&f‘b-l"
SAdS

Ans 268 (W) Director of Public Instructions Ans 269 (¥) AB
Ans 270 () 17
A fiftmr fegmar, damg




FF w3 eret AT @ fefenraginn BET
HiZ & 56 337 09-08-2019

Q276. 393 Aifeus &9 fdg ‘Afex agse ‘967
How many ‘Fundamental duties’ are there in the Indian Costitution?
®9 () 11 (®) 12 ()6
Q277.3793 T IHSI e faozT I?
Which is the National Flower of India?
(®) Rose (") Lotus (¥) Sunflower (A) Marigold
Q278. ‘UoHl® AHE3’ QU x93 © SRF & IASHI 137
Which of two countries signed the ‘Panchsheel Agreement’?
(8) Bangladesh-Pakistan (M) China-India
(¥) Pakistan-India (H) Sri Lanka-India
Q279. 35 foftmit f&9* faggr ‘fex At fie” adt 972
Which is not a ‘single cell organism’?
(®) usIHSH (of) viftET  (T) UgnHtEH GIGRIESH
Q280. fo39 &9 fdahit feet 957
How many Bricks are there in the figure?
®) 40 (nf) 38
(¥) 46 (A) 52

ANANAN

Ans 271 (") Bacteria Ans 272 (¥) =t &t
Ans 273 (¥) Blue Whale Ans 274 (¥) AAA
Ans 275 (8) 18,Q

2

“ Save the Nature & Save your Life
iz y

Ag® frftmr fesmar, damg




3T w3 E’PE’?‘ FHTZ € [Rfenaging et
Hie 3 57 3T 13-08-2019

Q281. 393 T AT 3 BIT AHTIr 1Y fFT=3T I? Which is the longest
beach of India?

® Fgdl () aEsH Y (¥) Adter 9 (A) doer #i
Q 282. 3793 <9 fsafiz ufow Quqfa faaa™ I? Which is the first

satellite made in India?
8) nus (M) fsHaT  (¥) idnm g2 (A) dedus
Q283. I feg ... JH AZ 3 U Wiz &g It T
Air has highest percentage of.......... gasinit.
CIRCIC G Oxygen (M) 995 STEMTIATELS Carbondioxide
@) ?FS']—Z'“IK Nitrogen (H) »JdI&  Argon
%1284 Wﬁmﬁvmaﬁmﬁaa@aﬁf&mw
?
(8) =9 () fotAT (T) HIEHT  (H) A
Q 285. f&3 a2 UF 939 A,B,C,D,E &5 fxa3 &5 39 e iy =gar
gS8EdI? Out of given 5 figures A,B,C,D,E which three figures on joining
for a square?

(A) (D) (E)

LL./\MD

(8) AB,C (") B,C,D (¥) C,D,E (H) B,C,E
82~ €39 »aw fes &t Hiz f9 3 waar, 3¢ 3 feHat JHIZ a9 |
Hic 899 56 € Adt €39

Ans 276 (") 11 Ans 277 (") Lotus
Ans 278 (») China-India Ans 279 (H) TE189™  Ans 280 (®) 46

“ Save the Nature & Save your Life ”

: i g 3 ﬁ vﬁ ﬁ i )




[ ]
3t 3 TR a3 ¥ fefonodhnt st
HiE 3: 58 =t . 14-08-2019
Q286.'T®, UB, %' 9" % &= AS? Who was the Bal in' Bal, Pal, Lal"?

(®) Lal Bahadur Shastri (") Bal Gangadhar Tilak

(¥) Jawaharlal Nehru (A) Motilal Nehru
Q287.‘3HY g y& T, A 3078 wimret Fehar’ feg s fam 3 fvgr?
Who gave the slogan “Give me blood and | promise you freedom”?

(®) Bal Gangadhar Tilak (") Subash Chandra Bose
(¥) Mahatma Gandhi (H) S. Bhagat Singh

Q 288. 3793 ¥ I'HSI! arE T U AT I?

Who is the author of the National Anthem of India?
(8) Rabindranath Tagore (") Vallabhbhai Patel
() Bankim Chandra Chatterjee (A) Subhash Chandra Bose

Q 289.27 © wwrel € B3Et ¥ UfoS FdT &= AE?

Who was the first martyr of the country’s Independence war?

(8) Rani Laxmi Bai (") Tantia Tope
(¥) Nana Saheb (A) Mangal Pandey
Q 290. 3793 T 'THSI H'E' &t T? What is the "national motto' of India?
(8) Work Hard (7) Satyameva Jayathe

(¥) Help the Needy (A) Speak the Truth

ae:- §'39 »a few €t Mz e 37 7r=d, 3T 3% formalt aAes a9
Hie 899 57 © At €39 b
Ans 281 (¥) HdtaT Hig %
Ans 282 () nrdtor g2 ¥

Ans 283 (¥) ?FEWZT\FIE‘S‘ Nitrogen
Ans 284 (8) ¥9
Ans 285 (H) B,C,E




HiE &: 59 it 17-08-2019

Q291. gfonit &t AofesT 5t 3793 ATaT 3 fxoz Swuwdts a9 At
&I3T I? Which helpline number has been given by Govt. of India for helping
the children? |

®) 100 () 1098 (T) 1234 (A) 111

Q292. fggF »a™3 39 F? Which non-metal is a liquid?

®) Azt () g3fHs (®) dux (A7) TEtEdTs
Q 293. 37931 Halts Y=ot T Az T 43 79 957

How many notes (Sur) are there in Indian music system?

(8) 5 Eight (M) & Six () H3 Seven (H) g9 Twelve

Q294. H3Y T' fefamrsa &t st I? What is the scientific name of a human
being? :

(8) IH AUMIEH (Homo sapiens) (1) UEJT SIS ( Panthera leo)

(@) foudun (Hippocampus) (A) afsA élﬂmlﬁm( Canis familiaris)

Q295. 35 &3t sAle T (7) <t 5F 3 ==t Aftmrr 539

Fill up a suitable number in the place of (?) in the figure given below.

®) 20

23 (®29 @17

Ans 286 () Bal Gangadhar Tilak Ans 287 (") Subhash Chandra Bose
Ans 288 (&) Rabindranath Tagore Ans 289 (¥) Mangal Pandey
Ans 290 () Satyameva Jayathe

2

“ Save the Nature & Save your Life
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3t 3 TRt A @ fefonradnr met
HiZ &: 60 fH3t 19-08-2019

Q296. 3X AT BT A3 I Ju Wae fan o7 5 g2 7@ 987
For Lok Sabha, maximum members are elected from which state?

®) €39 yen () HT Yy<H ®) fagg (R) THAES
Q297. Hfu@zT faadt mar meser 37

Which language does a computer understand?

(®) Binary Language (") Punjabi Language
(¥) English Language (A) Official Language
Q 298. SRSt gaIt fxadtert a52

®) fagt T 899w S wormar 9=

() frigt =7 Gu9s & g 3% o@ B

(®) gt & €995 &' g ¥et § &a

(A) fegst &9 It &t

Q299. HIS fxA 3T f< TRIPPLE T &5 SQHOOKD ¥ 3+ €F s f¥g
DISPOSE BT &3 &t d<arlIn any language, if code for TRIPPLE is SQHOOKD,
then what will be the code for DISPOSE in the same language?

(8) CHRONRD (") DSOESPI (¥) ESITPTF (A) ESOPSID

Q 300. A group of wolves is called.............

() shoal (A) herd

ac:- 839 nas fow €t mie 59 37 Araal, 3¢ 3% fonml aRaS o9 |
Hie 839 59 ¥ At €39
Ans 291 (»f) 1098 Ans 292 (M) g3fHs

Ans 293 (€) A3 Seven  Ans 294 (8) S Mfwidd Homo sapiens
Ans 295 (8) 20

“ Save the Nature & Save your Life ”

Ag® fHfinr fegmar, damg




Q 301. 5319 BT W3 o Uerfes T J=F x9elz @ ydor @
fine<t famst 37 Who is responsible to conduct the Municipal corporation
and Gram Panchyat elections?
®) IH AgEg & () AeT AIaT o
(®) feus AgT & (A) 97 9 war
Q 302. faA Araar sTHETust § 2019 T 3793 I35 HEIT ffsT fap?
Which ex President of India has been conferred ‘Bharat Ratan’ in 2019?
(®) HHZY yfssr ufem () 37, Tt A nmes o
(®) 7t yog wugdlt  (7) H Hom fonrs mawr
Q303. g9 fgnt gan faw 337 g9 o3 ar Aaer 37
How can hypermetropia be corrected?
(8) »=3% &57 5% (Concave Lens)
(n7) 3% &&d (Convex Lens)
(T) nT3® m3 §°3% San (Concave and Convex Lens)
() fegst 9" AT 5t (None of these)
Q304. 99 3 fx fifg 3 go & et Jur & ot ur foxr e B9
What a line that touch at a single point on a circle is called?
(8) & U™ (Intersecting line) (™) BUTH JYT (Tangent)
() 2T T (secant) (A) AHS™3T 34T (Parallel line)

Q305. Y7 37 ¥ Y feaas 92 95 ? Q

How many diagonals are in a pentagon?
®s o2 @3 (@4
82:- €37 »u fos &t e 59 37 A=al, 3¢ 3 FoHat ARSS o5 |

Hiz 339 60 ¥ At €39
Ans 296 (8) €39 yem Ans 297 (8) Binary Language
Ans 298 () frgt " @895 8 BAST I Ans 299 (€) CHRONRD
Ans 300 (") pack

"SR 96 TiEnt & oA fifs g 31
AgS fHftmr fesmar, drmg




Q Yz
Who was the first Indian to receive a Nobel Prize?

(8) Mother Teresa (M) Hargobind Tagore

() CVRaman () Rabindranath Tagore

Q307. %Wﬁ#mmwmﬁm?m?#m
3?7 Which one of the following Indian states is the largest producer of natural
rubber?

(®) Tamil Nadu (™) Kerala (¥) Assam (A7) Andhra Pradesh

Q 308. Kangaroo is the national animal of...... ai’arg ... T THSI waeg
(®) Pakistan (1) Thailand (T) Australia  (A) India

Q 309. A noun that refers to a male is said to be the............
ﬁww@mww&mﬁﬁ@,%ﬁ ............... 8 iR g3 |

(8) Masculine Gender (M) Feminine Gender

| () Common Gender (H) Neuter Gender

3 oidl U9 Afos 3 AR fagr %= RS d= ag
f397? Five boys participated in a race. Raj was ahead of Mohit but behind
Gaurav. Ashish was ahead of Sanjit but behind Mohit. Who won the race?
(8) I (Raj) (n1) dt9= (Gaurav) (®) HfTZ (Mohit) () wiee (Ashish)

Hiz 899 61 @ mt S
Ans 301 (R) 9'° 9= »idigr &t Ans 302 () 7t y=3 yueift
Ans 303 (1) €35 337 (Convex Lens)  Ans 304 () Ry9R Jyr
(Tangent)
Ans 305 (®) 5
"éﬁmmaﬁmﬁe”raﬂmﬁsﬁ—é’r%l”
Ag® it fegmar, g



() idl 85 IIET T
(B) widt 7H Bfamr I (F) vidl AgS J|
Q314. 975 wigt & yIs TIaq Aftmr S ¥ y9s T9w 329
which is the largest 4 digit perfect square numbers ?
®) 9999 (") 1024 () 9801 () 1000

| Q315. ‘One who treats all teeth problems’ is called

(8) Chemist (") Dentist (¥) Cardiologist (H) Surgeon

Ans 306 (A1) Rabindranath Tagore  Ans 307 (™) Kerala
Ans 308 (¥) Australia | Ans 309 (8) Masculine Gender
Ans 310 (»f) ﬁE?(Gaurav)
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Q 316. 3793 T Ufg® »ygg fIa3T AT? Which was the first newspaper of
India?

(8) dar® ame (M) g9 AHET (¥) = fdg (F) T SHqe
Q317. I35 faA Tu3 3 3 J&t T2 Quinine is prepared from which
plant?

(®) &1 (1) fus (®) freasr (A) Hdtgies

Q 318. I393H ¥ T o € AF fdar J8 I? What is the sum of all angles

of a quadrilateral ?
(®) 90° (nf) 180° (¥) 270° () 360°

Q 319. Computer cannot work without
(8) Internet (M) software (¥) e-mail (A) mouse
Q 320. 39319 AJt I BT €39 939 f&9° At €39 F37? Find the

suitable figure from the anwer pictures to comlete the sequence of
figures given below.

yHs fi3q (€39 f939)

PN AV NN

® o ® @

32:- €39 v few &t Hie fS9 37 7=dl, 3¢ 37 fenat IA93 9|

Hie 399 63 © Adt €39
Ans 311 () HEJ 96 38T  Ans 312 (B) g3g¢ts Wiud
Ans 313 (F) »id AGS J | Ans 314 (¥) 9801

Ans 315 (") Dentist

" A Library without Books is a like Tree without Birds” §
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Q321. w3t &9 »H TI3 AT T8 TIUT ¢ ot AfJe I5?

Which type of mirror is commonly used in homes?

(8) §3% TIuS(concave) (M) MT3®% TIUS(convex)

(¥) AH3 (plane) (A) ‘€ miZ ‘n’ 22 (both ‘8 and W1’ )
Q 322. ‘fa93 &9, 1 7Y, €5 =1’ fan gg Afog #f & QuEr T ?

(8) HF Ig »iHT =H At () HF I9 56 €< Hi

(¥) Ht 39 difde fiw #t (F) Ht I niods &< #

Q323. Jd% ot I? What is ‘Google’?

(8) Opreting system (") Search Engine  (¥) Virus (H) Browser

Q 324. ﬁl‘)—l"'gn T HIEJ™ fa8 I? Where is Humanyus’s tomb situated ?
(|) &t (nf) YATaTIT (¥) ef3oud Alast (A) 39s
Q 325. fIA 3T f&9 ‘467’ & »IJF ‘leaves are green’ I | ‘485’ T NIy
‘green is gold’ W3 639’ TT niJH ‘they are playing’ J| fer g f&T
Leaves €T 35 ©H?

If 467 means ‘leaves are green’. 485 means ‘green is gold’ and 639 is
‘they are playing’ in a code language. Find the code for ‘Leaves’ in this
language.

®) 4 () 6 (T) 7 (F) 3

a2:- 839 naB fes € Hie 9 37 A=, 3¢ 3 ferdl IAT3 AT |

Hie 399 64 € AJt €39
Ans 316 (8) Jar® dme Ans 317 (%) fAsd®T
Ans 318 (H) 360° Ans 319 () software

Ans 320 (¥)

" A Library without Books is a like Tree without Birds” %\
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Q326. 3793 {55 fXUT" I AZ 3 ¥q T=® e I I?7 Which state of
India is the largest producer of Rice ?

®) ¥amg (o) gfgmrer (2) YaHt dar (rr)@?rdq%n
Q327. f€x AHESIgH @ feads niur 9 93 fsat @ &= 3 322 952

At what angles do the diagonal of a Rhombus mtersect ?

®) 60° (nf) 90° (®) 120° (A) 180°

Q 328. The words, ‘honesty’, ‘bravery’, ‘kin}dness’, and ‘hope’ are................
(8) Common Nouns (") Proper Nouns
(¥) Abstract Nouns (A) Collective Nouns

Q32995 fest sAdte v fomdme a9 vF fx &% Has R
fefenratnit & 3fsx fefomrs, gfes fefimrs w3 wiossd foiy 2
ﬁlﬁﬁ?ﬁ%ﬁ%’wﬁ%ﬁmﬁ?wa@? Analyse the

following picture and answer that how many students have cleared all three
subjects of Physics ,Chemistry and Biology in a school examination.

grvfes fefomry

[eon

it

® 25 ()38 (¥ 32 (A) 10

Q330. SISt UEt T HU gU fR997 T ? What is the purest form of
natural water?

®) feseg T lie () T & v
(E)HUETLFET (H)m&?wér

Ans 321 (¥) AHS® Ans 322 (n) i am AT e Fﬂ
Ans 323 () Search Engine Ans 324 (8) fifst
Ans 325 (2) 7

“HeT v3 niFge fesae izg aor er A o 1™

AgS fHftmr fegmar, Jamg
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Q331. 3-HT EBSasmfes, U< TS| Nights and days on
equatorial region are ..........

(®) Equal (") Unequal

(¥) Less in Length (A) None of these
Q332. UEt &t w3 fan sws 3 A F° S g 32 Atwhat
temperature does the water have maximum density ?

®) 0°C () 100°C (¥) 4°C  (H) 10°C

Q333. T3t BT AT 3° SO 5H fa93T T2 Which is the longest dam of the
world?

(®) di9r o5 (&3t () ISt 3n (839mnds)
(®) gz 30 (fores yan) (A) I3 AT 30 (JAme)
Q334. 35 &3 I3t f$5° fagar fozT T 58 widar 39

Following set of figures, select the one that is different from rest?

A+

® o ® ™
Q335. OMR ¥ YI7 5™H ot I? What s the full form of OMR?
(8) Optical Mark Reader (") On Mark Reader

(¥) On Money Reader (A) Optical Mark Run

32:- €39 @ fes & Hie &9 37 w=a, 3T I fonit aHIS =3

Hiz 389 66 ¥ At €39
Ans 326 (¥) U=t gors Ans 327 (%) 90°
Ans 328 (@) Abstract Nouns Ans 329 (A) 10

Ans 330 (»f) Ht'T = ust

“HgT 3 niAse fegare nizg a9 T A ger 31 7

AgS fHftmr femr, dag



Q336. ‘Irg dife AW AU T9Hs u=q usie’ faa 37
Where is "éuru Gobind Singh Super Thermol Power Plant” situated?
(8) JUSAT Rupnagar () Mf{3AI Amritsar
(¥) H'&HAT Mansa (A) =fE3T Bhatinda
Q337. 393 K9 ITHeIUST m3 Bu-gHeaust &t v= faodt fedt
&% &3t AfEt T? Name the procedure adopted for electing the
president and vice president of India?

(®) Y3y f<ut Direct Method (1) MY3Y fedt Indirect Method
(¥) 3&HIT fedt Dictatorship Method () =T 2 &t None of these
Q 338. Ufg®" HTTHT &E° FTEN™? When did the first world war occur?
(®) 1915-17 (M) 1939-45  (®) 1914-18  (H) 1920-25
Q 339. ﬁsﬁwﬁ»ﬁﬁé‘ﬁaﬁmﬁ%ﬁwﬁ?ﬁwﬁ?w
gIT8T BT TTST A I? Which of the followmg material is used in
pencils to makes writing cores of pencils?
(®) Zinc (1) Copper (‘8) Graphite (Fr) Iron
Q 340. far &= 37 f¥% BLOOD $ 24113, BRUST 3§ 26078 fafimr
ATeT J13F ROBUST mT a3 TR lf In a certain code Ianguage BLOOD is
written 24113, BRUST is written 26078. Then the code of ROBUST is.
(8)620781  (n1) 612078 (€) 678102 (W) 610732

Ans 331 (@) Equal

Ans 332 (g) 4°C
Ans 333 (8) dtor g3 (83t Ans 334 (nf)
Ans 335 (8) Optical Mark Reader
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Q341. 3T HJS § fagar ygrz Az 3 foer gaAs uder f9am 37 Which
type of pollution is causing damage to ‘Taj Mahal’?
(8) uet ygre (n1) TS YIRS

(¥) HI YTHS (A7) fegst f&g° J2t &at
Q 342. 3fonft & u9st 3 Tt U™ a9s BET fan I & 93 St A

J92 What is the standard unit to measure the distance of stars from the

earth ?

®) fomtes () Wied () yIm A% (A) 3HieT
Q343.3J § #dr 3 98T et fen Quv fam & By &z AT I?
What is coated on iron to protect it from rusting?

(8) MBHISIHH (nf) T (@) fAd  (A) ASTH
Q 344. 29 NATHZ $ HGA HI™G Jat fHsTdt AeT fimis de € #76H fes 3

faax feer =8 Hatfen™ ATET T? Which day is celebrated on the occasion of
Major Dhyan Chand’s birthday on August 29 ?
(8) T37<JT fe<H environment day (¥)JIHIST WH fe<H National Youth Day

(7) fer feer Vijay day (W) ITHSIT 3 fo=A National sports Day
Q 345. I fsftmit 28" fagzT fo39 36, AEF w3 A9 R AT §
TIAREr J? Which one of the following picture depicts the relationship
between food ,vegetable and carrot accurately?

©0 09 © ¥
®) ® @

(1)

&2 - 839 nio® fos &t Hie <9 37 7adl, 3¢ 3% feHdt AT a9 |
Hie 399 68 & AdT €39
Ans 336 (8) JU&dId Rupnagar Ans 337 (1) i3y fedt Indirect Method
Ans 338 (¥) 1914-18 Ans 339 (¥) Graphite
Ans 340 (%) 612078

“figsz €T Tt I H AE®3T T TITW Uy feet I17




| Fﬁz' 389 69 T Hzﬁ @33
Ans 341 (»r) 9T YTHT
" Ans 342 (¥) YaH A5
" Ans 343 (@) = o
Ans 344 (») IS 9‘3 fe=H National sports Day |
Ans 345 (¥)
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